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An investor writes a call option against stock held in his or her
portfolio is said to be selling:

(Ain-the-money options (B)put options

(C)naked options (Dicovered options

(B)out-of-the-money options. [ Egt4)
6D

ﬁFJ 53[%11'7@ (covered call) = &} l',I:F 7@+fF ey SL b
ﬁFJ gl (covered put) = &l el + Hp AR pUHLE
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Which option trading strategy is used when we expected a large
increases or decreases in the underlying stock price?

(A)Long straddle (B)Short straddle

(C)Buy a call (DBuy a put

(E)Vertical spread. [ Bk 4ak]
A

GPFEEUIE Clong straddle) < FERISZURINR o G HERY ¢ IEREE
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If an investor believes that a stock price is going to be quite
variable over his holding period and that it is more likely to
decrease than increase, in which of the following transactions
might the investor engage?

(A)Write a straddle (BIPurchase a strap

(C)Write a strip (DPurchase a strip. [ 4212 ~ %t
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Purchase a straddle = Buy 1 Call + Buy 1 Put
Write a straddle = Write 1 Call + Write 1 Put
Purchase a strap = Buy 2 Call + Buy 1 Put
Write a strap = Write 2 Call + Write 1 Put
Purchase a strip = Buy 1 Call + Buy 2 Put
Write a strip = Write 1 Call + Write 2 Put
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